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evwl©K cixÿvi djvdj 1443 wnRix

gvÕnv`yj eyûwmj Bmjvwgqv
ewmjv Mv‡W©b wmwU, gynv¤§v`cyi, XvKv-1207

BewZ`vqx AvDqvj

†g
vU

Mo

gvb eÈb

†gvU b¤^i :  100 9 = 900
gygZvh :  80  9 = 720
Rvwq¨` wRÏvb :  65  9 = 585
Rvwq¨` : 50  9 = 450
gKe~j :  35  9 = 195

99 98 95 92 90 99 98 97 100

1 kdxKzj Bmjvg 57 65 35 50 72 78 97 80 61 595 66% Rvwq¨` wRÏvb 21

2 Zvgxg Avngv` 93 90 92 92 86 98 98 82 95 826 92% gygZvh 4

3 dqmvj Av‡e`xb 62 79 43 50 44 80 35 70 35 498 55% Rvwq¨` 25

4 gynv¤§v` BDmyd 93 84 78 87 73 97 96 80 95 783 87% gygZvh 11

5 gynv¤§v` mvjvûÏxb 91 92 83 85 75 99 88 93 100 806 90% gygZvh 6

6 Avkivd Avjx 92 90 92 82 75 94 93 90 95 803 89% gygZvh 9

7 Z¡nv Bmjvg 48 78 36 25 62 35 84 88 89 545 61% Rvwq¨` 22

8 kvwKiæj Bmjvg 88 93 64 77 85 79 90 85 98 759 84% gygZvh 13

9 gynv¤§v` Avjx 95 96 82 91 90 95 87 90 100 826 92% gygZvh 4

10 gvn`x nvmvb (gywÝMÄ) 50 74 36 50 50 77 35 78 57 507 56% Rvwq¨` 24

11 gynv¤§v` dziKvb 94 87 75 74 73 97 43 80 98 721 80% gygZvh 15

12 gvn`x nvmvb (ivRkvnx) 99 93 95 87 87 97 95 92 92 837 93% gygZvh 2q

13 Rqbvj Av‡e`xb 96 98 93 80 76 98 89 80 95 805 89% gygZvh 7

`dZ‡i ZvÕjxgvZ
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gvb eÈb

†gvU b¤^i :  100 9 = 900
gygZvh :  80  9 = 720
Rvwq¨` wRÏvb :  65  9 = 585
Rvwq¨` : 50  9 = 450
gKe~j :  35  9 = 315

99 98 95 92 90 99 98 97 100

14 Iqvwn`yjøvn 95 87 91 89 84 98 56 95 92 787 87% gygZvh 10

15 Dgi dviƒK 76 87 71 66 85 78 49 81 76 669 74% Rvwq¨` wRÏvb 18

16 ûhvBdv Avãyjøvn 96 85 67 85 68 82 76 90 91 740 82% gygZvh 14

17 Av‡bvqvi ûmvBb 63 93 55 55 46 35 35 80 79 541 60% Rvwq¨` 23

18 Avãyi ingvb (†fvjv) 89 89 75 56 75 78 41 82 89 674 75% Rvwq¨` wRÏvb 17

19 Beivnxg Ljxj 89 96 76 63 83 98 96 75 92 768 85% gygZvh 12

20 gyÕAvh web wRqv 97 96 84 89 85 98 97 97 91 834 93% gygZvh 3q

21 dhjyj nK 97 92 90 88 84 99 96 97 95 838 93% gygZvh 1g

22 Avãyj nvB wgkKvZ 92 95 84 92 88 97 75 90 92 805 89% gygZvh 7

23 Avãyi ingvb (Puv`cyi) 89 85 69 72 59 85 35 77 92 663 74% Rvwq¨` wRÏvb 19

24 Lv‡j` nvmvb gvn`x 93 95 72 73 77 91 35 90 92 718 80% Rvwq¨` wRÏvb 16

25 Avkivdzj Bmjvg 
AvivdvZ

78 84 65 65 48 82 93 70 35 620 69% Rvwq¨` wRÏvb 20

 m‡e©v”P b¤^i    
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